[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

.................................................

...............................................

Iy

1.0

Ratio
=
|I_I_I.§_l_l_ll Illlllllqlllll!lIIIJIIIIIIIIIIIIIIIIIIIIIIIIIIIII
! —

0.95 : :
1072 107 1 10 0?
TP vertr (cr%)

—=— DQM_IT__onignal
—e— DQM_TT__0pt09_PU3

o DQM_TT _1pt09_PU3
[Efficiend —— BoM-TT—2htod P03

e

o

0
f

.......................................

0.04 ........ .......

TTTTTTTF

&

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

1.0

Ratio

T
a

1

e H 3 pei] e e - - - -

T T

+
-
4
[

it
-
—+
s

0®5=15C10 -5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


